Yo7y (/= 1 -

GP09060400102521 Montaj Talimati (Mountain Instruction)
GP Kompozit Honda CB125F 2023-2024 Uyumlu On Cam
GP Kompozit Windshield Windscreen Compatible For Honda CB125F 2021-2024

Paket igerigi:
(Package Contents)
A &ﬂ- cl -!: 2 Adet baglanti ayagi sag sol ayak

o0 o0 (2 pieces of connection foot (right and left))

? O O O 2 Adet 5x20 mm pul basli civata
SRe v (2 pieces of 5x20 mm hex head screw)
oc o0 4 Adet 6x40 mm pul bash civata
o ° (4 pieces of 6x40 mm hex head screw)

° 2 Adet 5x25 mm pul basli civata
(2 pieces of 5x25 mm hex head screw)

4 Adet M5 fiberli somun
(4 pieces of M5 nylon lock nut)

4 Adet M5 plastik pul
(4 pieces of M5 plastic washer)

4 Adet M5 metal pul
(4 pieces of M5 metal washer)

2 Adet 109x5x6 mm plastik conta
(2 pieces of 109x5x6 mm plastic gasket)

2 Adet 20x10x6 mm plastik conta
(2 pieces of 20x10x6 mm plastic gasket)

4 Adet 12x9x8 metal burg
(4 pieces of 12x9x8 mm metal bushing)

Kullanilacak Takimlar:
(Necessary Tools)

No:3,4 Alyan
(Number:3,4 Allen)

No:8 Anahtar
(Number:8 Wrench)

No:10 Tornavida
(Number:10 Screwdriver)

Montaj Videosu:
(Assembly video)

I

NOTE: Pleése ao not proceed with the product assembly without reading th
instructions and important precautions included in the package!!

NOT:Lutfen paket igerisindeki montaj talimatlarini ve 6nemli uyarilari okumadan iiriin
montajina baslamayiniz!!



Vo7 (%//// ="/ 10 &

10 Tornavida ile igaretlenen
vidalari sokinuz.

(Remove the screws marked
with 10 screwdrivers.)

Baglanti ayagina gosterildigi
gibi burg ve vidalari yerlestiriniz ve 4 alyan ile monte ediniz.
(Her iki tarafada ayni sekilde monte ediniz.)

(Place the bushings and screws onto the connection
foot as shown and assemble with 4 allen wrenches.
(Assemble in the same way on both sides.))

Not: Paket igerisinden ¢ikan li¢ contayi, en kalini iist tarafa, orta boyu alt tarafa ve
en kii¢iigiinii ise camin 6n tarafina gelecek sekilde montajlayiniz.

(Note: Install the three washers from the package so that the thickest one is placed at the top,
the medium-sized one at the bottom, and the smallest one at the front of the glass.)

Paket icerisinde ¢ikan kalin contalar
ic tarafa ince contalar dis tarafa gelecek sekilde
fotografta gérdiguntz gibi takiniz.

(Place the thick seals from the
package on the inside and the thin seals
on the outside, as shown in the photo.)




Y7oy (¥ /// = v/ 1

Isaretlenen kisma civatalari
yerlestirdikten sonra somun takiniz.

(After placing the bolts into
the marked area, attach the nuts.)

3 alyan ve 8 anahtar ile
camdaki vidalari sonuna kadar sikiniz.

(Tighten the screws on the glass completely
using a 3 Allen wrench and an 8 spanner.)




	Sayfa 1
	Sayfa 2
	Sayfa 3

